Pre-Calculus Review Quiz #14 Name Pd
Chapter: 11-4 to 11-6

Topic 1: graphing — graph the following
1. y=log, x 2. y=log;x

Topic 2: solving for x

3. log, 5+log, x =log, 30 4. logg 20 — logg 5x = log, 2

5. log,(x* +2) +log, 4 = log, -8 6. log, 11x—log,(x* -3) = log, 2
7. 82" =425 8. 57 =27

9. 4" =5 10. Ine* =4

11. Se™ -7=2 12. In5x=2

Topic 3: Extensions and Applications

13. Which of the following is not equivalent to (loga —logb)* = log(cd)

A. (log%)x = log(cd) B. (10g%)=x10g(cd)

C. (loga-logh)" =logc +logd D. xlog% = log(cd)

14. Tom is investing $400 in an account that earns an APR of 7% interest continuously.
a. How much will the account be worth in 10 years?
b. How long until the account is worth a million dollars?

15. The Loudness, L in decibels is given by L =10log R where R is the relative intensity of the sound.

a. A stadium crowd produces a loudness of 90 decibels. What is the relative intensity of each person
if there are 15,000 people in the crowd?

b. How many decibels does the sound increase when the relative intensity is doubled?



Topic 4: Review Materials

16. State the equation of the line that passes through (2, 4) and is parallel to y — 2 = % (x + 2) in point-slope
formy -y = m(x — x)

17. Use the graph to answer the following questions:

a. State the Max or Min

b. Is the function represent an even or odd degree function? i _.-""_-"-._

c. State the zeros

d. State the y-intercept

e. State the end behavior

18. Factor completely and state all roots ~ y = 2x” + 3x* — 9x
19. Use the quadratic formula to find the imaginary roots of y=2x"+5

20. Rationalize the denominator in the following:

2 Jx x
\/5 x=3

21. Divide: x—4)2x2 -x-28

7

22. Solve for x —+
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Topic 1: graphing — graph the following
I. y=log,x 2. y=log;x

Teopic 2: solving for x

3. log, 5+log, x =log, 30 4. logg 20 —log, 5x = log, 2

5. log,(x* +2) +log, 4 = log,~8 6. log, 11x—log (x* —3)=log, 2
7. 82" =425 8. 577 =22

9. 4% =457 10. Ine* =4

11. 5¢™ -7=2 12, InSx=2

Topic 3: Extensions and Applications

13. Which of the following is not equivalent to (loga —logh)* = log(cd)
a.. a, _
A. (log3)" =log(cd) (log ) = xlog(cd)

C. (loga~logh) =logc+logd D. xlog%:log(cd)

14, Tom is investing $400 in an account that earns an APR of 7% interest continuously. c
a. How much will the account be worth in 10 years? A,; Ve v
b. How long until the account is worth a million dollars?
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15. The Loudness, L in decibels is given by L =10log R where R is the relative mtens:t? of the sound.,

a. A stadium crowd produces a loudness of 90 decibels. What is the relative intensity of each person,
if there are 15,000 people in the crowd? d= {0 /oj R q= /U_j R d= 10
b. How many decibels does the sound increase when the relative intensity is doubled? fev pevson
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Topic 4: Review Materials

16. State the equation of the line that passes through (2, 4) and is parallel to y — 2 = %2 (x + 2) in point-slope " .
- formy—y=m(x —x) S
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I'7. Use the graph to answer the foilowmg questlons

a. State the Max or Min
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b. Is the function represent ar@or odd degree function? - ,.-'ﬁ‘-,
c. State the zeros | ¥ 3 /
d. State the y-intercept .. 2

e. State the end behavior
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18. Factor completely and state all roots  y = 2x° + 3x° — 9x
y= x(x#2)(2x-3)
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19, Use the quadratic formula to find the imaginary roots of y=2x"+5
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